
§·¤æ§ ü / Unit-I

1. çÙ`ÙçÜç¹Ì ¥æ¡·¤Ç¸Uæð ´ âð Õæ©UÜð ·¤æ çßá×Ìæ »é‡ææ¢·¤
™ææÌ ·¤èçÁ° Ñ

ß»ü 10-20 20-30 30-40 40-50 50-60 60-70 70-80

¥æßëçîæ 5 12 27 51 30 12 2

Calculate Bowley’s coefficient of skewness
from the following data :

Class 10-20 20-30 30-40 40-50 50-60 60-70 70-80

Frequency 5 12 27 51 30 12 2

¥Íßæ / OR
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çÙ`ÙçÜç¹Ì ÂÚU çÅUŒÂç‡æØæ¡ çÜç¹° Ñ
(a) âãUâ¢Õ¢Ï ·¤è ×æ˜ææ
(b) âãUâ¢Õ¢Ï ·¤è â¢ÖæÃØ °ß¢ Âý×æÂ ˜æéçÅU
Write notes on the following :
(a) Degree of correlation
(b) Probable and standard error

§·¤æ§ ü / Unit-II

2. ‹ØêÙÌ× ß»ü çßçÏ âð ÂýÌèÂ»×Ù â×è·¤ÚU‡æ ·¤è »‡æÙæ
çßçÏ ÕÌæ§°Ð
Give regression equation calculation method
from least square method.

¥Íßæ / OR

Üæ»Úð´UÁ çßçÏ âð ¥æ¢ÌÚU»‡æÙ ·¤èçÁ° Ñ
ØçÎ x = 10, Ìæð y ·¤è »‡æÙæ ·¤èçÁ°

x 5 6 9 11
y 12 13 14 16

Interpolate using Lagrange’s method :
If x = 10, then calculate y

x 5 6 9 11
y 12 13 14 16

§·¤æ§ü / Unit-III

3. °·¤ ÂýçÌØæð»è ÂÚUèÿææ ×ð´ ·é¤Ü v}®® ÂýçÌÖæç»Øæð´ ×ð´
{wz âÈ¤Ü ÚUãðUÐ x®® ÂýçÌÖæç»Øæð´ Ùð ·¤æðç¿¢» @Üæâ
Öæ»èÎæÚUè ·¤è ¥æñÚU ©UÙ×ð´ âð v}®® âÈ¤Ü ÚUãðUÐ ØêÜ
·¤æ âæãU¿Øü »é‡ææ¢·¤ ™ææÌ ·¤èçÁ°Ð

( 2 )
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Toal 1800 candidates appeared for a
competitive examination 625 were successful,
300 had attended a coaching class and of
these 180 came out successful. Calculate
Yule’s coeffiicient of association.

¥Íßæ / OR

(a) ÂýæçØ·¤Ìæ ·¤è »ç‡æÌèØ ÂçÚUÖæáæ ÎèçÁ°Ð

(b) â¢ÖæßÙæ ·¤æ »é‡ææˆ×·¤ Âý×ðØ @Øæ ãñU?

(c) ƒæÅUÙæ¥æð´ ·ð¤ Âý·¤æÚU ÕÌæ§°Ð

(a) Define porbability mathematically
(b) What is multiplication theorem of

probability ?
(c) Give types of events.

§·¤æ§ ü / Unit-IV

4. çÈ¤àæÚU ·¤æ ¥æÎàæü âê¿·¤æ¢·¤ @Øæ ãñU? çÙ`Ùæ¢ç·¤Ì
¥æ¡·¤Ç¸Uæð´ âð §â·¤è »‡æÙæ ·¤èçÁ° Ñ

ßSÌé°¡
2018 2020

×êËØ ×æ˜ææ ×êËØ ×æ˜ææ
A 5 100 7 110
B 15 120 20 125
C 20 160 30 170

What is Fisher’s Ideal Index Number ?
Calculate by the following data :

( 3 )
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Commodity
2018 2020

Price Qty Price Qty
A 5 100 7 110
B 15 120 20 125
C 20 160 30 170

¥Íßæ / OR
â×Ø °ß¢ Ìˆß ©Uˆ·ý¤æ`ØÌæ ÂÚUèÿæ‡æ ·¤æð âê˜æ ·¤è
âãUæØÌæ âð SÂcÅU ·¤èçÁ°Ð
Clarify time and factor reversibility with the
help of formula.

§·¤æ§ ü / Unit-V

5. ·¤æÜŸæð‡æè @Øæ ãñ? §â·ð¤ ƒæÅU·¤æð´ ·ð¤ ÂëÍ@·¤ÚU‡æ ÂÚU
çÅUŒÂ‡æè ·¤èçÁ°Ð
What is Time Series ? Comment on seperation
of its components.

¥Íßæ / OR
Îèƒæü ·¤æçÜ·¤ ©UÂÙçÌ ·¤æð ™ææÌ ·¤èçÁ°Ð ÌèÙ ßáèüØ
¿Ü ×æŠØ ·¤æ ©UÂØæð» ·¤èçÁ°Ð

ßáü 2010 11 12 13 14 15 16 17 18 19 20 21 22
×æ˜ææ

(’000) 60 68 52 30 70 40 75 30 50 75 60 80 75
Calculate Secular Trend. Use three yearly
moving average.

Year 2010 11 12 13 14 15 16 17 18 19 20 21 22
Quantity

(’000) 60 68 52 30 70 40 75 30 50 75 60 80 75
———


